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X 5 9~12 IF | 18~17 I | 18~22 IF | 9~17 Ff | 13~22 IFf | 9~22 ¥}

A A 1,070 1,280 1,600 2,260 2,680 3,760
AT 5,380 7,000 8,620 11,860 15,100 20,500
AR = 420 530 630 950 1,070 1,500

5% 1 HE=E 310 420 530 850 950 1,380
5% 2 WHE = 420 530 630 950 1,070 1,500
% 3 HE= 310 420 530 850 950 1,380
ORI IES 210 370 420 630 680 800
52 fn= 310 420 530 850 950 1,380

WA DAGE (ZRIET L b02a0) 28Il 5256

 ERITEMAEEAL L

THHT 256 OB OFIL, ERICHEIT 56HEO3 0 03—k FORHE T 5,
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X % m B % & X % m B % &
i A 3,350 3,350 | &5 3 WHE=E 100 150
PRI = 210 310 | # 1fn= 100 150
%1 HE= 100 150 | 25 2 fn= 100 150
5% 2 HE= 210 310 %;;f : 210 310
SRk 210
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